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��
 �� #��'��� G(s) = Y (S)
U(S)

!�� )*��")���$�"���������

G(s) =
1

s + 1︸ ︷︷ ︸
G1(s)

+
1

s︸︷︷︸
G2(s)

+
1

s − 1︸ ︷︷ ︸
G3(s)

.


4 .����! #���� �'� ����������� ���� G(s)(
5�#4

%4 .����! �� ��6������
���*
���� ��! �+ ��� 

#�
'���
��"��!��
� ������
���
� � G(s)(

5�#4

'4 .����! �&���!��� ����$�
� y(t) ")� t > 0� �+ �&���!�� ��
��
� � *��

5
��
 �����
�*����� �� �4 �'� �+ ����$�
��� �� u(t) ���

u(t) =

{
0 t ≤ 0
1
4

t > 0

5�#4

�4 ��� ��
%��� �&���! �������'��
� 
* 
�� �� %�$����
� ����$�
� $�� �� %��
$����
� ����$�
�( 2���
 
* )*��")���$�"����������
 G(s)� G1(s)� G2(s)
�'� G3(s) �� ��
%��
7 ����*��
 ���� �*
�7

5�#4
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�� �&���!�� ���
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�r + � �e F (s) � G(s)
+ ��

v
+

� �
y

�−


+� #��'����� G(s) %�����*
� 
*

G(s) =
2s + 1

s2 + 2s + 2
.

��$�����$ ���� !�� �� /���$��
��� ��! %�����*� 
*

F (s) = Kp.

�� ��)����$� v(t)� � "��! 
* ��� ���$ !�� 
!#������� �� ��!!�� �� � �&���!��
#+ ��� ���� ��! *��
� � 8$���� ���
�(


4 2
� %��� ��� �*
���+���� ��
������
 "���� �+ Kp = 17
5	#4

%4 9���� ")����������$ 
�� ��� +�����##�
�� �&���!�� �� ��
%���� ")� *�����
Kp �##�+� ��� ��)���
 ��
������
 "����7

5�#4

'4 :�� �
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������
 "���� ���!����
�7 ;� �*+ ")���
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�r + � � F (s) � Gprocess(s) � �
y

�+��
−w�Ggivare(s)

�−

���
F (s) = Kp(1 +

1

sTi

)

Gprocess(s) =
4

1 + 2s

Ggivare(s) =
1

1 + 0.1s


4 <�!��������
 /=���$��
���� �+ 
�� )*���������$�"���*����� �'� "
�!
��
$��
��� %���

ωc = 0.4ωG150

ϕm = 45o

��� ωG150 �� ��� "���*��� ��� G(s) = Gprocess(s)Ggivare(s) �
� �� "
��
*������$ #+ '
 −150o(

5�#4
%4 ;�*
��� #+*���
� 
* ��� �����"��!
� !��%���� w(t)� !�� "���*����� �(�

:> �'� 
!#������� �(�( :�� !&'��� ��!!�� y(t) 
�� *
����
 %�������
#+ !��%�����7 ?! �� ���� �)��� 
4 �##$�"��� �
� �� ��� 
��
 
�� Kp = 1
�'� Ti = 5(

5�#4
'4 1��
$ 
�� �� ��$���
� �&���!�� !�� �� ��$��
��� ��! �##"&���� �#�'��

8�
�������
 � 
4( �&*��� *��
�� ��$ ��� *�����$
 $�*
��� �������! �
�
�� ����")���)3���$ #+ L ��������� �*�

Ggivare(s) =
1

1 + 0.1s
e−sL

2����� �� ��� ��)���
 ����")���)3���$ $�*
��� �
� �
 ��
� 
�� ��� +����
��##�
�� �&���!�� %��� ����
%���7

5	#4
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��� ��6������
���*
�
������(

d2

dt2
r(t) + k

r2(t)
− r(t)ω2(t) = u1(t)

1
r(t)

d
dt

(r2(t)ω(t)) = u2(t)

��� k �� $�
*��
����������
���� �'� u1(t) �'� u2(t) �� �
�����
 ���#����*�
�
�$�������
 ��&���
"���(


4 @���� �## �
��������� �)�������*
������ � %
�
�� #�
� #+ ������+���"��!
!�� x1(t) = r(t)� x2(t) = d

dt
r(t) �'� x3(t) = ω(t) ��! ������+���*
��
%�

���(
5�#4

%4 -)� ����$� 
* �� ��$���
�$����! ��! ��
 �+��
 �� $����
������ �
������
���� 3����� #+ �����
�� ���
��* #������� *��� !
� ���3������
 ��*
�������
�
 ����$ ��� ��!�����
 '�������
 %
�
�( ?!��##������ � �&$� $��

ω0 =
2π

24 · 3600
rad/sekund

;���!")� ���3��������$�� 
* ������+���!������� !�� ���&��3
��� 
* 
��
������+�������*
����
 �� ���� � 
�%���#������ 5��!�����
 %
�
�4( A��
!�����
 ��&���
"��� �� u10 = u20 = 0( 
+� u(t) = [u1(t) u2(t)]

T �'�
y(t) = [r(t) ω(t)]T ( .����! !
�������
 A� B� C �'� D �+ 
�� ∆ẋ =
A∆x + B∆u� ∆y = C∆x + D∆u ��� ∆x �'� ∆u �� 
**��������
 ����$

�%���#������(

5�#4

'4 1*$)� ��
%�������� ")� ��� ���3������
�� ������+���!�������( ?! �� ����
�)�� %4 �##$�"��� �
� �� 
��
 
�� A !
������ ��� �� #+ ")�3
��� �����

A =

⎡
⎣ 0 1 0

3 0 2
0 −2 0

⎤
⎦

5	#4
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2� *��� %����!!
 �� /���$��
���

u(t) = −Kpy(t)

")� �&���!��
ẏ(t) − ay(t) = u(t)

��� a �� �� �����
�� ��! �
� 
��
 %+�� #�����*
 �'� ��$
��*
 *�����( 1��
$

�� y(0) = 1 �'� 
�� ��$
 ��)����$
� #+*���
� �&���!��( .����! ��� /�
��$��
��� ��! $
�
����
� 
�� ����$�
��� 
����� $+� !�� ����� �*�

lim
t→∞

y(t) = 0

�'� �
!����$� 
�*����� �+ ���� ��&���$�
������$� ��! !)3��$�� �*� ��! !����
!��
� ∫ ∞

0

u2(t)dt.

5�#4
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G(s) =
1

s + 1︸ ︷︷ ︸
G1(s)

+
1

s︸︷︷︸
G2(s)

+
1

s − 1︸ ︷︷ ︸
G3(s)

=
3s2 − 1

s(s2 − 1)
.


4 A����������� s = ±
√

1
3

/����� s = 0� s = ±1(

%4
(((
y (t) − ẏ(t) = 3ü(t) − u(t)

'4 y1(t) = 1
4
(1 − e−t), t > 0, stabil

y2(t) = 1
4
t, t > 0, instabil

y3(t) = −1
4
(1 − et), t > 0, instabil

y(t) = y1(t) + y2(t) + y3(t), instabil

�4 @� '4

�


4

Gve(s) = − 1

1 + F (s)G(s)
= − 1

1 + Kp
2s+1

s2+2s+2

k.f. = lim
t→∞

(r(t)−y(t)) = lim
t→∞

e(t) = lim
s→0

sE(s) 5�! $����*����� �B�����
�4

V (s) =
10

s
⇒ E(s) = − lim

s→0
s

s2 + 2s + 2

s2 + 2s + 2 + 2Kps + Kp

10

s
= − 20

2 + Kp

= −20

3

%4 Gve ��
%��� ����� !
�$������ ��
%��� �+ 5������:��C��>4

2 + 2Kp ≥ 0
2 + Kp ≥ 0

}
⇒

{
Kp ≤ −1
Kp ≤ −2

.

-)����������$�� 
�� ��� +�����##�
�� �&���!�� ��
 *
�
 ��
%��� !��")�

����+ 
�� Kp ≥ −1( -�+� 
4 �
� *� 
�� k.f. = − 20

2+Kp
�+ $����*�����

�B�����
� *����� ��� $)� �+ ��� �����
 �&���!�� �� ��
%���( 2� ��� �+ 
��
��� ��)���
 "���� �����6
� �+ Kp = −1 *����� !��")� 
�� k.f. = −20(

D



'4 <�� �*
���+���� "���� ��! �##��+� #+ $���� 
* ��)����$�� �
� ���!��
���
� $���! 
�� �+�
 ��$��
���� �����+�
 =�*���
�( ?! ��)����$�� ��
!��%
� �
� !
� �'��+ ����'��
 ��)����$��� ��*���
� $���! �+ �
��
�
"�
!��##���$(
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4

G(s) = Gprocess(s)Ggivare(s) =
4

1 + 2s

1

1 + 0.1s{ |G(jω)| = 4√
1+(2ω)2

1√
1+(0.1ω)2

arg G(jω) = − arctan(2ω) − arctan(0.1ω)

.����! �� ωG150 *����� �� ��� "���*��� ��� G(s) = Gprocess(s)Ggivare(s)
�
� �� "
�*������$ #+ '
 −150o( 9� ����&'��� �*
� �
� *� $���! 
�� ���

�## "
�*�����$������*
� � .�����
$�
!!�� ����� ����
�� $���! 
�� #+
!�������
��� #�)*
 ���� ����
 *����� #+ ω� ")� 
�� "+ "�
! ωG150( <���

$�� ���

ωG150 ≈ 18.5 rad/s

2��3 �� ωc = 0.4ωG150 ≈ 7.4 rad/s(

arg G(jωc) ≈ −123o.

arg F (jω) = −90o + arctan(Tiω)

arg L(jω) = arg F (jω) + arg G(jω)

⇒
arg L(jωc) = arg F (jωc) + arg G(jωc) = −180o + 45o = −135o

⇒
arg F (jωc) = −135o − arg G(jωc) = −12.4o

⇒

�



arg F (jωc) = −90o + arctan(Tiωc) = −12.4o

⇒
Tiωc = 4.56

⇒
Ti ≈ 0.62

2� �
� �� *
�� ωc �'� Ti �+ *� "+� ���� "
�!
�$��
�( <�� ��! +�����+� ��

�� *��3
 Kp �+ �����)*��")���$�� �
� ")���������$�� � *�� ωc� �"�����!
��� �� #+ ����
 ���� ��! ωc �� ��8����
�(

|L(jωc)| = 1 ⇒ |F (jωc)||G(jωc)|

⇒
|F (jωc)| =

1

|G(jωc)| = 0.22.

|F (jωc)| = Kp

√
1 + (Tiωc)2

Tiωc

=
1

0.22
⇒ Kp ≈ 4.5

%4 f = 0.1 :>( 2� %��)*�� �!*
���
 "�+� :> ���� �
�E� *����� $�� ω =
2πf = 0.2π �
�E� �"�����! |G(jω)| ")��������� 
�� ω �� $�*�� � �
�E�(

w(t) = 0.1 sin(0.2πt + ϕ)

@�
������� %��� ����$�
���� y(t)� �+ )*��")���$�"��������� "�+� w ���� y
�� ��
%���

y(t) = |Gwy(jω)| sin(ωt + ϕ + arg Gwy(jω))

�"�����! *� ��%
�� �� ���������
� 
* ��� !&'��� !��%����� #+*���
�
����$�
��� %������ *� "�+� "
�*�����$�� �*
�(

Gwy(s) =
Ggivare(s)F (s)Gprocess(s)

1 + Ggivare(s)F (s)Gprocess(s)
=

( 1
1+0.1s

)(Kp(1 + 1
sTi

))( 4
1+2s

)

1 + ( 1
1+0.1s

)(Kp(1 + 1
sTi

))( 4
1+2s

)
=

=
4Kp(sTi + 1)

0.2Tis3 + 2.1Tis2 + Ti(4Kp + 1)s + 4Kp

⇒
|Gwy(jω)|2 =

(4Kp)
2((ωTi)

2 + 1)

(4Kp − 2.1Tiω2)2 + (Tiω)2((4Kp + 1) − 0.2ω2)2

⇒

�



|Gwy(j0.2π)|2 ≈ 1.04 ⇒ |Gwy(j0.2π)| ≈ 1.02.

<���
 ����%�� 
�� ����$�
��� ��
������� ��� �� ��!

y(t) = 1.02 · 0.1 sin(0.2πt + ϕ + arg Gwy(j0.2πt))

'4

arg e−sL = −ωL rad = −ωL
180

π
grader

�"�����! *� �
� �� "
�!
�$��
� #+ 45o �+ �
� $�*
��� )�
 "
�*������$��
!�� 45o ���
� �&���!�� %��� ����
%���( -
�!
�$��
��� ����� 
* *�� )*���
�������$�"���*�����( :�� ���� �)���� � $�*
��� !���*
�
� &������$$
��
45o "
�*�����$ *�� ωc7

−ωcL
180

π
= −45o ⇒ L ≈ 0.1s.

�

r̈(t) + k
r2(t)

− r(t)ω2(t) = u1(t)
1

r(t)
d
dt

(r2(t)ω(t)) = u2(t)


4 ;���! 
�� ��")�
 ����*����$�� � ��� 
���
 ��*
������ "+��

1

r(t)
(2r(t)ṙ(t)ω(t)+r2(t)ω̇(t)) = u2(t) ⇒ ω̇(t) =

−2ṙ(t)ω(t)

r(t)
+

1

r(t)
u2(t)

������+���� ������ *��3
� ����$�

x1(t) = r(t)
x2(t) = ṙ(t)
x3(t) = ω(t)

<���*����$ $��

ẋ1(t) = ṙ(t) = x2(t)
ẋ2(t) = r̈(t) = − k

r2(t)
+ r(t)ω2(t) + u1(t) = − k

x2
1(t)

+ x1(t)x
2
3(t) + u1(t)

ẋ3(t) = ω̇(t) = −2x2(t)x3(t)
x1(t)

+ 1
x1(t)

u2(t)

�



����� #+ 5����3��4 !
����"��! 5��$�� ����$�
� 
�$�*��4⎡
⎣ ẋ1(t)

ẋ2(t)
ẋ3(t)

⎤
⎦ =

⎡
⎢⎣ x2(t)

− k
x2
1(t)

+ x1(t)x
2
3(t) + u1(t)

−2x2(t)x3(t)
x1(t)

+ 1
x1(t)

u2(t)

⎤
⎥⎦

%4 
��3��������$ $�� 5�
&�����*�'����$4

∆ẋ(t) = A∆x(t) + B∆u(t)

��� ∆x(t) = x(t) − x0� ∆u(t) = u(t) − u0 �'�

A =
∂f

∂x

∣∣∣∣
(x0,u0)

, B =
∂f

∂u

∣∣∣∣
(x0,u0)

x0 �'� u0 �� 
�%���#������� *����� � ����
 �B�!#�� �� �� 3�!*����#����
*����� ����%�� 
�� f(x0, u0) = 0( <�� ������!��
 ���
������ $���

x20 = 0
− k

x2
10

+ x10x
2
30 + u10 = 0

−2x20x30

x10
+ 1

x10
u20

*����� !�� u10 = u20 = 0 $�� ")�3
��� *����� #+ x10 �'� x20�

x20 = 0

− k
x2
10

+ x10x
2
30 + u10 = 0 ⇒ x10 = (k/x2

30)
1/3

−2x20x30

x10
+ 1

x10
u20 = 0

.�������$ 
* A �'� B $�� 5��� x30 = ω04�

A =

⎡
⎢⎣

∂f1(x,u)
∂x1

∂f1(x,u)
∂x2

∂f1(x,u)
∂x3

∂f2(x,u)
∂x1

∂f2(x,u)
∂x2

∂f2(x,u)
∂x3

∂f3(x,u)
∂x1

∂f3(x,u)
∂x2

∂f3(x,u)
∂x3

⎤
⎥⎦

(x0,u0)

=

=

⎡
⎣ 0 1 0

2k/x3
1 + x2

3 0 2x1x3

2x2x3/x
2
1 − u2/x

2
1 −2x3/x1 −2x2/x1

⎤
⎦

(x0,u0)

=

=

⎡
⎣ 0 1 0

3x2
30 0 2x10x30

0 −2x30/x10 0

⎤
⎦ =

⎡
⎣ 0 1 0

3ω2
0 0 2(kω0)

1/3

0 −2k−1/3ω
5/3
0 0

⎤
⎦

��



B =

⎡
⎢⎣

∂f1(x,u)
∂u1

∂f1(x,u)
∂u2

∂f2(x,u)
∂u1

∂f2(x,u)
∂u2

∂f3(x,u)
∂u1

∂f3(x,u)
∂u2

⎤
⎥⎦

(x0,u0)

=

⎡
⎣ 0 0

1 0
0 1/x1

⎤
⎦

(x0,u0)

=

=

⎡
⎣ 0 0

1 0
0 1/x10

⎤
⎦ =

⎡
⎣ 0 0

1 0
0 (k/ω2

0)
−1/3

⎤
⎦

C =

[
1 0 0
0 0 1

]

'4
D = 0

�$��*�����
 $�� 
* det(λI − A) = 0 *����� $��

det

⎡
⎣ λ −1 0

−3ω2
0 λ −2(kω0)

1/3

0 2k−1/3ω
5/3
0 λ

⎤
⎦ = 0

*����� �� ��*�*
���� !��

λ(λ2 + 4ω2
0) − 3ω2

0λ = λ3 + ω2
0λ = 0 ⇒ λ(λ2 + ω2

0) = 0
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u(t) = −Kp y(t)
ẏ(t) − ay(t) = u(t)
y(0) = 1
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ẏ(t) − ay(t) = −Kp y(t).
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⇒
ẏ(t) + (Kp − a)y(t) = 0, y(0) = 1
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